RROKE-RFEEBERET S (R AEAKEFEE)

BEHEIR
R /N E L= /NS =% 3 24K
miE 7000.48 m | 117.42 m | 7117.9 m
HHEE 98.4 % |16 % | 100.0 %
=Eizkliy
Rt ABEREE | AEEHAR 2K
EBEEFERAN 4 [Bl§R % | 2 @R % %
% | EXERAN % | FA—H— | % %
2| HRERH % | BlA—2— | % %
K| KEFERF % | BlA—2— | % %
& | BEFERH(RTR—1—2) 1 B % % %
KEFERHE (RTHR—1—2) R A—R— % % %
Biw. BiR. RimERER 100.0 % | 0.0 % | 100.0 %
P E 98.4 % | 1.6 % | 100.0 %
Bh S ER B R SF MR 98.4 % | 1.6 % | 100.0 %
BERAERIEYREERE 98.4 % | 1.6 % | 100.0 %
ILAR—I—EERST 100.0 % | 0.0 % | 100.0 %
ERATERERT RR 100.0 % | 0.0 % | 100.0 %
B B fil R R F mAR 100.0 % | 0.0 % | 100.0 %
ABEAKNEBEERST AR 100.0 % | 0.0 % | 100.0 %
ﬁ‘ HEFT —RFRE 100.0 % | 0.0 % | 100.0 %
;r EERERT AR 100.0 % | 0.0 % | 100.0 %
IZ AR TRTFHIE 98.4 % |16 % | 100.0 %
- MAKABEBRT SR 100.0 % | 0.0 % | 100.0 %
BAREEE 100.0 % | 0.0 % | 100.0 %
EHRERERETS 98.4 % | 1.6 % | 100.0 %
2K BRE 100.0 % | 0.0 % | 100.0 %
HIKEE, MRAKEERER 98.4 % | 1.6 % | 100.0 %
AKEFERTRE 100.0 % | 0.0 % | 100.0 %
BYNRARTRRETR 100.0 % | 0.0 % | 100.0 %
BTG RRT RERT 100.0 % | 0.0 % | 100.0 %
EIHIGEERUHSHINEF | 1000 % 0,0 % | 100.0 %
Fo—=T 88 %K 100.0 % | 0.0 % | 100.0 %
EBYmiE OKEEE 7, 117.90 m
A KB 7, 000.48 m (98.4%)
UNEE$:5 117.42 m ( 1.6%)
OFEEGRIH) 1383 m (ANEOH)
OfEl&ME (BI#&) 324 m (DEDOH)




